Chapter 2 Problems
1. When volume increases:

a. fixed cost in total increases and fixed cost per unit decreases

b. fixed cost in total remains constant and fixed cost per unit decreases

c. fixed cost in total and fixed cost per unit remain constant

d. none of the above

2. When volume increases:

a. variable cost in total increases and variable cost per unit decreases

b. variable cost in total remains constant and variable cost per unit decreases

c. variable cost in total and variable cost per unit increase

d. none of the above – Correct answer:  Variable Cost in total increases & vc per unit remains constant
3. At a point when volume reached 4,000 units, fixed costs amounted to $20,000 and total cost amounted to $60,000.  If volume were to increase to a level of 5,000 units, total cost would be:

a. $70,000



TC = FC + VC
b. $60,000



$60,000 = 20,000 + VC
c. $100,000



VC = $40,000
d. None of the above


VC / unit = $40,000 / 4,000 units = $10 /unit
@ 5,000 units
FC = $20,000

VC = $50,000

TC = $70,000
4. The following income statement was produced when the volume of sales was 200 units.

Sales Revenue


$1,000

Variable Cost


  ( 600)

Contribution Margin

     400

Fixed Cost


   ( 150)
Net Income


$   250

If volume reaches 250 units, net income will be:

a. $350



Sales Revenue - $1000 / 200 units = $5 / unit
b. $500



Variable Cost - $600 / 200 units = $3 / unit
c. $550





d. None of the above


Revenue ($5 * 250)

$1,250
Variable Cost ($3 * 250)
 (  750)
Contribution Margin                500

Fixed Cost


  ( 150)
Net Income


 $  350
5. Zeta Company sells men’s sports coats.  The average sales price is $475 and the variable cost per coat is $225.  Fixed costs are $4,220,000.  If Zeta sells 25,000 coats, the contribution margin will be:
a. $7,655,000


Revenue ($475 * 25000)
$11,875,000
b. $5,625,000


VC ($225 * 25000)

(  5,625,000)
c. $2,030,000


CM



$  6,250,000
d. $6,250,000

6. Rita Company sells waste containers.  The price and cost of the containers is $75 and $40, respectively.  Fixed costs are $210,000.  Rita sells approximately 8,000 containers per year.  Based on this information, the magnitude of operating leverage is:

a. 3 times



Contribution Margin = ($75 – 40) = $35 * 8,000 units = $280,000
b. 4 times


Net Income = $280,000 - $210,000 = $70,000
c. 5 times



OL = CM / NI
d. 6 times



OL = $280,000 / $70,000 = 4
7. Blanchett Stapler Company sells staplers at a price of $7 each.  The staplers cost $4 each.  Blanchett sold 10,000 staplers during its most recent accounting period.  Fixed costs amounted to $20,000.  If the number of units sold increases by 10%, profitability will increase by which of the following amounts?

a. 10%


Sales Revenue ($7 * 10,000)

$70,000
b. 20%


Variable Cost ($4 * 10,000)

( 40,000)
c. 30%


Contribution Margin

$ 30,000
d. 40%


Fixed Cost



 ( 20,000)
Net Income



$ 10,000

OL = CM / NI

OL = $30,000 / $10,000 = 3

Inc. in Profits = 3 * 10% = 30%
8. Handy Hiking produces backpacks.  In 2005, its highest and lowest production levels occurred in July and January, respectively.  In July, it produced 4,000 backpacks at a total cost of $110,000.  In January, it produced 2,500 backpacks at a total cost of $87,500.  Using the high/low method, the average variable cost of producing a backpack was:

a. $15.00


(High Cost – Low Cost) / (High Units – Low Units) = Variable Cost / unit
b. $31.25


($110,000 - $87,500) / (4,000 – 2,500)
c. $30.38


$22,500 / 1500 = $15 VC per unit
d. $27.50

9. Using the same facts as in question 8, what is the expected fixed cost?

a. $60,000

Total Cost = Fixed Cost + Variable Cost
b. $50,000

FC = TC - VC
c. $37,500

FC = $110,000 – ($15 * 4,000)
d. None of the above
FC = $110,000 - $60,000

FC = $50,000
